

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 2, 2021

Progress Estimate Number 9	Contract ID Prime Contractor	200515-C10 Mar-Jim Contracting, LLC	•	,	Original Contract Amount Net Change Order Amount Current Contract Amount	t \$129,862.11	
Approval Date						By User	

By User		Approval Date
reills1	Generated and Approved (and should be considered Draft) at the Project Office Level by	April 5, 2021
penner1	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	April 5, 2021
ramses1	Reviewed and Approved at the Central Office Controllers Office Level by	April 6, 2021

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 30, 2020	April 1, 2021		95.37%

	Contract Informational Dates												
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract										
Acceptance Date													
Awarded Date	June 3, 2020	June 3, 2020											
Letting Date	May 15, 2020	May 15, 2020											
Notice to Proceed Date	July 6, 2020	July 6, 2020											
Open to Traffic Date													
Work Began Date													

Contract Total Pay For Estimate No. 9								
		This Estimate	Previous	To Date				
200515-C10								
	Total Posted Items Pay	\$154,748.00	\$785,559.22	\$940,307.22				
	Gross Item Adjustments	(\$16,360.75)	\$10,051.72	(\$6,309.03)				
	Incentive	\$0.00	\$0.00	\$0.00				
	Disincentive	\$0.00	\$0.00	\$0.00				
	Liquidated Damage	\$0.00	\$0.00	\$0.00				
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00				
	•		\$795,610.94	\$933,998.19				
Contract Total Pa	avable This Estimate	\$138 387 25						

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description Unit Unit Price Current Installed Qty						
J4P3381	0010	2029902	MISC.REMOVAL OF IMPROVEMENTS: CATWALKS/LIGHTING	\$1,000.000	8	\$8,000.00			
	0020	2029904	MISC.REMOVAL OF IMPROVEMENTS; SIGNING	SQFT	\$4.500	2,776	\$12,492.0		
	0030	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 1 - SINGLE LANE CLOSURE	EA	\$3,315.000	6	\$19,890.00		
	0040	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 10 - SHOULDER CLOSURE	EA	\$805.000	1	\$805.0		
	0050	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 2 - DOUBLE LANE CLOSURE	EA	\$3,338.000	5	\$16,690.0		
	0060	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 3 - ENTRANCE/EXIT RAMP CLOSURE	EA	\$282.000	7	\$1,974.0		
	0070	6181000	MOBILIZATION	LS	\$24,200.000	0.75	\$18,150.0		
	0100	9035011A	ST-STRUCTURAL	SQFT	\$25.000	2,815	\$70,375.0		
	0110	9035071A	STF-STRUCTURAL FLUORESCENT	SQFT	\$36.000	177	\$6,372.0		
Project J4F	3381 - Tota	al					\$154,748.0		
Overall - To	otal						\$154,748.0		

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: April 2, 2021

Progre		imate Number 9	Contract ID Prime Contr		5-C10 m Contracting	LLC Pay Period End April 1, 2021	Original Contrac Net Change Orde Current Contract	er Amount	\$856,116.50 \$129,862.11 \$985,978.61
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3381	0010		MISC.	Overrun			-2	\$1,000.00	(\$2,000.00)
	0010		MISC.	Overrun			-1	\$1,000.00	(\$1,000.00)
	0020		MISC.				-251.5	\$4.50	(\$1,131.75)
	0040		MISC.	Overrun			-1	\$805.00	(\$805.00)
	0050		MISC.	Overrun			-1	\$3,338.00	(\$3,338.00)
	0050		MISC.	Overrun			-2	\$3,338.00	(\$6,676.00)
	0060		MISC.	Overrun			-1	\$282.00	(\$282.00)
	0060	MISC.		Overrun			-2	\$282.00	(\$564.00)
	0060		MISC.	Overrun			-2	\$282.00	(\$564.00)
Total									(\$16,360.75)

Revision 4/1/2020 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on			
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
J4P3381	FAS S303(2)	Sign installation	Various	VARIOUS	at various locations in the urban Kansas City District					
Totals by J	Job Numb	ers								
J4P3381		ed Item Pay s Item Adjustn		Item Pay	This Estimate \$154,748.00 (\$16,360.75) \$138,387.25	Previous \$785,559.22 \$10,051.72 \$795,610.94	To Date \$940,307.22 (\$6,309.03) \$933,998.19			
	Liqui	ntive centive dated Damage r Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 4/1/2020 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 200515-C10, Contract Project J4P3381, Project Item Line Number 0010, Contract Line Item Number 0010, Item 2029902, Minor Item.	A change order is being made for this overrun.	reills1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200515-C10, Contract Project J4P3381, Project Item Line Number 0020, Contract Line Item Number 0020, Item 2029904, Minor Item.	A change order is being made for this overrun.	reills1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200515-C10, Contract Project J4P3381, Project Item Line Number 0050, Contract Line Item Number 0050, Item 6169902, Minor Item.	A change order is being made for this overrun.	reills1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200515-C10, Contract Project J4P3381, Project Item Line Number 0060, Contract Line Item Number 0060, Item 6169902, Minor Item.	A change order is being made for this overrun.	reills1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 200515-C10, Contract Project J4P3381, Project Item Line Number 0040, Contract Line Item Number 0040, Item 6169902, Minor Item.	A change order is being made for this overrun.	reills1	Acknowledged

Revision 4/1/2020 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200515-C10	J4P3381	0001	0010	2029902	MISC.REMOVAL OF IMPROVEMENTS: CATWALKS/LIGHTING	25.00	0.00	25.00	EA	29.00	\$1,000.00	\$29,000.00
		0001	0020	2029904	MISC.REMOVAL OF IMPROVEMENTS; SIGNING	20,120.00	0.00	20,120.00	SQFT	20,371.50	\$4.50	\$91,671.75
		0001	0030	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 1 - SINGLE LANE CLOSURE	52.00	0.00	52.00	EA	34.00	\$3,315.00	\$112,710.00
		0001	0040	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 10 - SHOULDER CLOSURE	39.00	1.00	40.00	EA	43.00	\$805.00	\$34,615.00
	000	0001 0050 6169902		6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 2 - DOUBLE LANE CLOSURE	29.00	0.00	29.00	EA	32.00	\$3,338.00	\$106,816.00
		0001	0060	6169902	MISC.TRAFFIC CONTROL SETUPS TYPE 3 - ENTRANCE/EXIT RAMP CLOSURE	29.00	0.00	29.00	EA	34.00	\$282.00	\$9,588.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$24,200.00	\$24,200.00
		0040	0080	9031010	CONCRETE FOOTINGS, EMBEDDED	9.50	0.00	9.50	CUYD	8.29	\$1,033.00	\$8,563.57
		0040	0090	9031210	STRUCTURAL STEEL POSTS	6,080.00	0.00	6,080.00	LB	5,319.80	\$3.00	\$15,959.40
		0040	0100	9035011A	ST-STRUCTURAL	13,436.00	5,147.50	18,583.50	SQFT	18,583.50	\$25.00	\$464,587.50
		0040	0110	9035071A	STF-STRUCTURAL FLUORESCENT	1,213.00	-2.00	1,211.00	SQFT	1,211.00	\$36.00	\$43,596.00
		0040	5001	1099901A	MISC.Replace Damaged Splice Plate	0.00	1.00	1.00	LS	1.00	\$441.61	\$441.61
Project J4P3381 - Total Value Posted to Date as of Report Generated Date											\$941,748.83	
200515-C10 Ove	00515-C10 Overall - Total Value Posted to Date as of Report Generated Date											\$941,748.83

Revision 4/1/2020 Page 5 of 9

Page 6 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: I/D3381

nments
at 45 Hwy.
at Woodland.
closure at Rt 291.
Broadway exit.
ast I-35 exit.
on 11/11/2020 but was lef
ane closure at Skyview.
t lane closure at Parvin to
lane closure at Prospect t
ne closure past I-35 on ran
kyview ramp to I-435.
Woodland.
mp to Rt 291.
exit ramp to Rt 210.
exit ramp to 670.
70 WB.
orrection for payment on
on 11/11/2020 but was lef
orrection for payment on
1

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020



Line Item Adjustments by Estimate

Contract ID:190315-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3381	0010	MISC. REMOVALS	Overrun	Overrun	9	Apr 2, 2021	SYSTEM	(\$3,000.00)	
					10	Apr 16, 2021	SYSTEM	(\$1,000.00)	
				Overrun - To	otal			(\$4,000.00)	
			Overrun - Tota					(\$4,000.00)	
	0010 -	Total						(\$4,000.00)	
	0020	MISC. REMOVALS	Overrun	Overrun	9	Apr 2, 2021	SYSTEM	(\$1,131.75)	
				Overrun - To	otal			(\$1,131.75)	
			Overrun - Total					(\$1,131.75)	
	0020 -	Total						(\$1,131.75)	
	0030	MISC. TRAFFIC CONTROL DEVICES	Material		3	Dec 2, 2020	SYSTEM	(\$59,670.00)	
		DEVICES		- Total				(\$59,670.00)	
			Material - Tota					(\$59,670.00)	
			MaterialCredit		4	Dec 16,	SYSTEM	\$59,670.00	
						2020		A # 0 A # 0 A 0	
				- Total				\$59,670.00	
			MaterialCredit		_			\$59,670.00	
			Other Item Adjustment	MDPA		Dec 2, 2020	reills1	\$59,670.00	Material sample is in and accepted, but does not fall within the timeframe of the estimate.
				11004 T	4	Dec 16, 2020	reills1	(\$59,670.00)	Cancelling adjustment from previous estimate.
				MDPA - Tota				\$0.00	
	0000		Other Item Ad	ustment - 10	tai			\$0.00	
	0030 -				_		01/07514	\$0.00	
	0040	MISC. TRAFFIC CONTROL DEVICES	Overrun	Overrun		Jan 4, 2021	SYSTEM	(\$2,415.00)	
					6	Jan 19, 2021	SYSTEM	\$805.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',805.00000 - 805.00000, 'is applied (if non-zero).
					9	Apr 2, 2021	SYSTEM	(\$805.00)	
				Overrun - Total				(\$2,415.00)	
			Overrun - Tota	ıl				(\$2,415.00)	
	0040 -							(\$2,415.00)	
	0050	MISC. TRAFFIC CONTROL DEVICES	Material		3	Dec 2, 2020	SYSTEM	(\$30,042.00)	
				- Total				(\$30,042.00)	
			Material - Tota					(\$30,042.00)	
			MaterialCredit		4	Dec 16, 2020	SYSTEM	\$30,042.00	
				- Total				\$30,042.00	
			MaterialCredit	- Total				\$30,042.00	
			Other Item Adjustment	MDPA	3	Dec 2, 2020	reills1	\$30,042.00	Material sample is in and accepted, but does not fall within the timeframe of the estimate.
					4	Dec 16, 2020	reills1	(\$30,042.00)	Cancelling adjustment from previous estimate.
				MDPA - Tota				\$0.00	
			Other Item Ad					\$0.00	
			Overrun	Overrun		Apr 2, 2021	SYSTEM	(\$10,014.00)	
				Overrun - To	otal			(\$10,014.00)	
			Overrun - Tota	ı				(\$10,014.00)	
	0050 -	Total						(\$10,014.00)	
	0060	MISC. TRAFFIC	Material		3	Dec 2,	SYSTEM	(\$4,794.00)	



Line Item Adjustments by Estimate

Contract ID:190315-C01

Address	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Material Total	J4P3381	0060		Material			2020			
MotorialCradit			DEVICES						(\$4,794.00)	
Total S4.794.00 S4.794.0					l				(\$4,794.00)	
Material Credit Total Septiment Se				MaterialCredit		4		SYSTEM	\$4,794.00	
Chest item					- Total				\$4,794.00	
Adjustment				MaterialCredit	- Total				\$4,794.00	
MDPA - Total					MDPA	3		reills1	\$4,794.00	
Other Item Adjustment - Total						4		reills1	(\$4,794.00)	Cancelling adjustment from previous estimate.
Overrun Overrun P Apr 2 SYSTEM (\$1,410.00)					MDPA - Tota	al			\$0.00	
2021 (\$1,410.00)									\$0.00	
CONCRETE FOOTNISE EMBEDIED Material 2 Nov 16, SYSTEM (\$8,563.57) (\$8,563.57)				Overrun	Overrun	9	Apr 2, 2021	SYSTEM	(\$1,410.00)	
CONCRETE Material FOOTINS, EMBEDDED 2 Nov 16, SYSTEM (58,635.77)					Overrun - Total				(\$1,410.00)	
DOED COMPATE FOOTINGS ENREDDED				Overrun - Tota	ıl				(\$1,410.00)	
Property									(\$1,410.00)	
Naterial - Total SySTEM (88,663.57)		0800	FOOTINGS,	Material		2		SYSTEM	(\$8,563.57)	
Material - Total SYSTEM S8,563.57			EMBEDDED			3		SYSTEM	(\$8,563.57)	
MaterialCredit					- Total				(\$17,127.14)	
				Material - Tota	1				(\$17,127.14)	
Total S17,127,14				MaterialCredit		3		SYSTEM	\$8,563.57	
Material Credit - Total Other Item Adjustment MDPA 2 Nov 16, 2020 reills1 \$8,563.57 Adjusting for material adjustment while material testing is processing. MDPA - Total \$0.00 Other Item Adjustment - Total \$0.00 Other Item Adjustment - Total \$0.00 STRUCTURAL STEEL POSTS Material - Total \$15,959.40 Material Credit - Total \$15,959.40 Material Cre						4		SYSTEM	\$8,563.57	
Other Item Adjustment MDPA 2 Nov 16, 2020 reills1 \$8,563.57 Adjusting for material adjustment while material testing is processing.					- Total				\$17,127.14	
Adjustment									\$17,127.14	
MDPA - Total \$0.00					MDPA		2020			
Other Item Adjustment - Total \$0.00								reills1	(\$8,563.57)	Cancelling adjustment from previous estimate.
STRUCTURAL STEEL POSTS										
Nov 16, 2020 SYSTEM SYST				Other Item Adj	djustment - Total					
STEEL POSTS Company								0)/0==1/		
Material - Total Material Credit 3 Dec 2, 2020 SYSTEM \$15,959.40 - Total Material Credit - Total S15,959.40 Material Credit - Total Other Item Adjustment MATL 1 Sep 15, 2020 Feills1 \$11,661.72 This adjustment is for a material takeover of sign posts, line item 0090. The invoice number is 26535 with a total of \$11,106.40. With a 5% markup, the total comes to \$11,661.72. The posts were made before an error was found in the plans. After corrections were made, these posts were no longer usable for this contract MATL - Total MDPA 2 Nov 16, 2020 reills1 \$15,959.40 Adjusting for material adjustment while material testing is processing. 3 Dec 2, 2020 Cancelling out adjustment for this line item from estimate 2.		0090		Material		2		SYSTEM	, , ,	
MaterialCredit Total S15,959.40 MaterialCredit - Total S15,959.40 MATL 1 Sep 15, 2020				Make in Land						
Total S15,959.40						2	Da - C	CVOTELL		
MaterialCredit - Total Other Item Adjustment MATL 1 Sep 15, 2020 reills1 \$11,661.72 This adjustment is for a material takeover of sign posts, line item 0090. The invoice number is 26535 with a total of \$11,106.40. With a 5% markup, the total comes to \$11,661.72. The posts were made before an error was found in the plans. After corrections were made, these posts were no longer usable for this contract MATL - Total MDPA 2 Nov 16, 2020 reills1 \$15,959.40 Adjusting for material adjustment while material testing is processing. 3 Dec 2, 2020 reills1 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.				MaterialCredit		3		SYSTEM		
Other Item Adjustment MATL 1 Sep 15, 2020 shows a sep 25, 2020 shows a										
Adjustment 2020 invoice number is 26535 with a total of \$11,106.40. With a 5% markup, the total comes to \$11,661.72. The posts were made before an error was found in the plans. After corrections were made, these posts were no longer usable for this contract **I1,661.72** MDPA 2 Nov 16, 2020 Roll \$15,959.40 Adjusting for material adjustment while material testing is processing. 3 Dec 2, 2020 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.						,	0 :-			T
MATL - Total MDPA 2 Nov 16, 2020 3 Dec 2, 2020 Nov 26, 2020 Reills1 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.					MATL	1		reills1	\$11,661.72	invoice number is 26535 with a total of \$11,106.40. With a 5% markup, the
MDPA 2 Nov 16, reills1 \$15,959.40 Adjusting for material adjustment while material testing is processing. 3 Dec 2, 2020 reills1 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.										
2020 3 Dec 2, reills1 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.					MATL - Total				\$11,661.72	
Dec 2, reills1 (\$15,959.40) Cancelling out adjustment for this line item from estimate 2.					MDPA	2		reills1	\$15,959.40	Adjusting for material adjustment while material testing is processing.
MDPA - Total \$0.00						3	Dec 2,	reills1	(\$15,959.40)	Cancelling out adjustment for this line item from estimate 2.
					MDPA - Total				\$0.00	
Other Item Adjustment - Total \$11,661.72				Other Item Adj	Other Item Adjustment - Total					



Line Item Adjustments by Estimate

Contract ID:190315-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3381	0090 -	Total						\$11,661.72	
	0100	ST- STRUCTURAL	Material		2	Nov 16, 2020	SYSTEM	(\$149,687.50)	
					3	Dec 2, 2020	SYSTEM	(\$260,337.50)	
				- Total				(\$410,025.00)	
			Material - Total					(\$410,025.00)	
			MaterialCredit		3	Dec 2, 2020	SYSTEM	\$149,687.50	
					4	Dec 16, 2020	SYSTEM	\$260,337.50	
				- Total	- Total				
			MaterialCredit	MaterialCredit - Total					
			Other Item Adjustment	MDPA	2	Nov 16, 2020	reills1	\$149,687.50	Adjusting for material adjustment while material testing is processing.
					3	Dec 2, 2020	reills1	\$110,650.00	Material sample is in and accepted, but does not fall within the timeframe of the estimate.
					4	Dec 16, 2020	reills1	(\$246,487.50)	Cancelling adjustment from previous estimate.
					6	Jan 19, 2021	kneibr1	(\$13,850.00)	Canceling out the remaining overage from past adjustments for material exceptions.
				MDPA - Total				\$0.00	
			Other Item Adj	Other Item Adjustment - Total				\$0.00	
			Overrun	Overrun	4	Dec 16, 2020	SYSTEM	(\$13,850.00)	
					5	Jan 4, 2021	SYSTEM	(\$4,675.00)	
					6	Jan 19, 2021	SYSTEM	\$18,525.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.00000 - 25.00000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
	0400	Total	Overrun - Tota	Overrun - Total				\$0.00	
	0100 -		Matarial		0	Nov. 40	OVOTEM	\$0.00	
	0110	STF- STRUCTURAL FLUORESCENT	Material		3	Nov 16, 2020	SYSTEM	(\$7,200.00)	
				Total	3	Dec 2, 2020	STSTEIN	(\$20,700.00)	
			- Total Material - Total					(\$27,900.00)	
					3	Dec 2	SYSTEM	(\$27,900.00)	
			MaterialCredit		4	Dec 2, 2020 Dec 16,	SYSTEM	\$7,200.00	
					4	2020	STSTEM		
				- Total				\$27,900.00	
			MaterialCredit					\$27,900.00	
			Other Item Adjustment	MDPA Total		Nov 16, 2020	reills1	\$7,200.00	Adjusting for material adjustment while material testing is processing.
					3	Dec 2, 2020	reills1	\$13,500.00	Material sample is in and accepted, but does not fall within the timeframe of the estimate.
					4	Dec 16, 2020	reills1	(\$20,700.00)	Cancelling adjustment from previous estimate.
			MDPA - Total Other Item Adjustment - Total					\$0.00	
	04-0	Takal	Other Item Adj	ustment - To	tal			\$0.00	
LABORE	0110 -	Total						\$0.00	
J4P3381 -								(\$7,309.03)	
Overall -	Total						(\$7,309.03)		